Efficiency vs hit

£0.05¢

= F . . H H : : i
B.045F-------men R TR T A R
< I
B0.04F -+
s F A
©.035F
5 E : . : : :
0.03F-- - B a1y A
0.025F -+ +ieneeteesdonndopi)

0.02F
0.015F - --

llMWHII!HL

Hh
7

.||||||||||||||||||||||| ]
0 8

0

TP hits
—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default

[Efficienc| —— DQMstep3_softQCD_defaultNEWT

00.02p - - - -
o F . H N .
Bo18F----- oo o fromenes O
%.016F : : : ;
2 F :
D.014F------5-
k=) o
@.012F :
o Tk : : i
0.01------ FARREARE A
0.008F------+-

0.006F

Efficiency vs pixel layer
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Efficiency vs 3D layer
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